Following notational conventions
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Correct stem ditection

Stems and beams

Incorrect (middle line stems
| go down by defaulr)
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Correct overall stem direction
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Incorrect (note furthest from middle line
determines overall stem direction)
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Correct overall stem direction
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Incorrect (stem down when two beamed notes
are same distance from middle line)
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Accidentals (cont.)

Preferred (B to Bb) Okay (BW to Bb)
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Correct (simultaneous D and Eb) Incorrect
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Ties, dots, and partial beams

Correct ties

Incorrect ties
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Alignment and horizontal spacing

Correct Incorrect
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Four-part keyboard style

Correct (SAT stem direction) Incorrect
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Correct (S & A doubling G4) Incorrect for four-part writing
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Four-part keyboard style (cont.)

Correct (SAT in treble clef)
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Change of octave requires
another accidental

Tying a note with an
accidental across a batrline
continues the accidental
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Four-part vocal style

C(ljrrect stem direction Incorrect
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Four-part vocal style (cont.)

Correct (two voices per staff) Incorrect (alto migrates between staves)
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Correct (tenor ledger lines) Incorrect for vocal style
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Four-part vocal style (cont.)

Correct (2nd between S & A)  Incorrect
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Tying a note with an
accidental across a barline
continues the accidental

Change of octave requires
another accidental
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Soprano ending on F
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